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WEST BENGAL STATE UNIVERSITY

B.A. Honours 2nd Semester Examination, 2020

PHIACORO04T-PHILOSOPHY (CC4)
PHILOSOPHY, WESTERN LOGIC-I1

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z T YMo Q"Y/VW fac Fed1
Candidates should answer in their own words AT [NCST ©IRNF TR TG AT AT M
and adhere to the word limit as practicable. s R

Answer any three questions taking at least one from each group (A & B)
T8 Y (ATF WS YT 03 &l ey wiG foq T atee Ted wie
GENERAL IMPRESSION: 2 MARKS
AYe TeFFole X THA
GROUP-A
front-s

1. Write in short: 4-+4+8
wFe Teq wes

(a) Explain with example the principle of Existential Generalisation (E.G.).
A& A oo Srigge Gt Tl |

(b) What is a substitution instance? Give example.
T V21T I 0T 9 Tmigel wie |

(¢) What is a normal form formula?
Rfeeiem 39 1 9
Find the normal form equivalent to the following:
i Rfzeia e Fet
(D) ~@)[~(Oxv~ Px)]
(i)  ~(Fx)[~(~Wxv Xx)]
(i) ~(x)[~(Sx- ~Tx)]

2. Construct formal proof of validity of the following (any four): 4x4 =16
faferie Ffeafr Siwmers (@@e! N FEie (-G 51Aib)

(i) Some photographers are skillful but not imaginative. Only artists are
photographers. Photographers are not all skillful. Any journeyman is skillful.
Therefore, not every artist is a journeyman.

g TEIAER Jrw 58 FaaeRed 9 (@FEg Mg FEEER 7K FEEEE
H | - FRAAA FoF | 7ok, H WIS Eweif=iois] =2
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(i) (0)[(Axv Bx)>(Cx-Dx)]/~.(x)(Bx> Cx)
(iii) (x)(Gx> Ex)
(x) Wx >~ Sx)
(Fx) (Wi~ Ex)/ -.(3x) (~ Gx - ~ Sx)
(iv) (x)(Fx>Gx)
(Fx) (Fx-~Gx)/ ~.(x)(Gx > Fx)

(v) Bananas and Grapes are fruits. Fruits are nourishing. Therefore, bananas are
nourishing.

T R SNGH T T | T 2 +ffER | Ak, T = Affe)
(vi) (x)(IxDJx)

(Fx) (Ix-~Jx)

S (x)(IxDIx)

3. Determine the invalidity of the following arguments by the method of truth value = 4x4 =16
assignment (any four):

HOTE) SR =il [Nesies fesler staee! e¥id Sl (-l 51Aib)

) () (Px>~Qx)
(x)(PxD~Rx)/..(x)(RxD~0x)

(1) ()[(FxvSx)D(CxVv Rx)]
(X)[Dx>D(SxV Rx)]
(x)(Fx=Cx)
(3x) Dx
~.(3x) (Sx- Rx)

(iii) (Fx)(Bx-~Cx)
(x)(Dx>~Cx)
~.(x)(Dx> Bx)

(iv) No diplomats are extremists. Some fanatics are extremists. Therefore, some
diplomats are fanatics.
I FoAITO® T b2 (@Al @Il s TfE = b= e, el
T FHAINOEE L3 |

(v) If anything is metallic, then it is breakable. There are breakable ornaments.

Therefore, there are metallic ornaments.

T I g 413 (o 20 O O 51| O3 izl R | TOAR, 4G (O 51Zele
R

(vi) All anarchists are bearded. All communists are bearded. Therefore, all
anarchists are communists.

T (RGIAR 2 WS e FECHIHAl W WS | oAk, e
(FRSTAAR PRCHD |
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4.

(a)

(b)

(©)

(d)

2076

Answer any two questions from the following: 8+8
fasferie - 75 alvss Teg wres

Explain with example the principal the Existential Instantiation (E.L.). Write the
limitations of the principle of E.I.

Criggere e neEead (E.L) it i s wfes peeeee (E.1) <ifes
Aol e T |
Symbolize the following sentences by using quantifiers, variable etc.
flerias arefns S, Jiealzs 2oyt AR eorpiiie wE
(i) Some authors are successful but not well read.
g (#1T w7pet g Hoifes 77|
(ii) Everything is beautiful.
(S A |
(iii) Diana was not happy.
BRCEIREGRIT
(iv) Only lawyers and politicians are members.
(PTG T2EE G el [Ofw L ) |

What are the differences between propositional function and truth function? Write
with example.

TRIZREI7Z IO '@ AR Wy oMy el et
What are the different ways of getting a proposition from propositional function?
G5 IO (AT F F I G664 26T (@S 7N 2 SRIREIHL 1T Al |

GROUP-B
etal-2

Explain the differences between scientific and unscientific explanation. Discuss 8+8
with examples the seven stages of the scientific method.

@i ¢ siFeifed PR e ALy Jig I @R wien Aol vk veeT

I R

What is analogical argument? How does it differ from induction per simple 4+12
enumeration?

FVHTETS SR, Sl PP 0T 9 @GNS SRR SR AR AR ST
SR 2N IR 9

Calculate the probability of the following cases (any four): 4x4 =16
e craefem seRTel fdft Tl (-Gt 51a5)

(i) An urn contains 6 red balls, 4 white balls and 5 black balls. What is the
probability of getting three black balls, if three balls are drawn from the urn?
@36 *Neg LTS e 76, 816 AW & =R T FIEE I W) 21T @A o1 I&

COIeT 2 ToaIRE FIEN I61 AN FSIRTO! T 9

(i) What is the probability that in rolling two dice the total number of points on
the top face would be 9°?
{6 2@ 7w e @it PivR (iofeeT » 231 TSRSl F© 9
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(ii1) In a book fair there are five similar entrances. Three friends have come to

(iv)

)

visit the book fair. What is the probability of their entering the fair by the
same entrance?

GG IZCET #A160 GPE T 2T T 2R Gl (R0 Al fower g9
G2 21 T AR TBRT©] T 9

What is the probability of not-getting a king in three successive draws of
cards from a deck of cards.

G5 O PG (ACF ToFa O B foaai2 AR O 91 Aeq Feyo!
399

What is the probability of getting three heads and a tail in tossing four coins
once?

B @ G [ 0T To0 (2T € @A G 21T AP F'© 2

8. Write short notes on (any #wo):
Bl @Tedls (Q@-Cieal 7fD)
(a) Explain with example Mill’s Method of Agreement. Show also its form.
Tzl Tea @ oisela (rfica lteTs S@all Aafo il S|

(b) Can a hypothesis be absolutely verified? Justify your answer.
(FICA! &FHCP I pOITOIE BIE Tl A 9 (SN T FACF I nis |

(c) Explain and illustrate the product theorem and addition theorem of calculating
probability.
FYIRGOI Selella S @ (N0 T GRIRge TR It Fl |

(d) Write in short the Copi’s criticism of Mill’s method.
TR Aafosfe Fo(0s (IR ACENbAISfET FREwC @I

N.B.
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: Students have to complete submission of their Answer Scripts through E-mail / Whatsapp

to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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